
�
 JR100D  �������10.8V

1 / 1$�



�
 JR100D  �������10.8V

'>�� 2017/11/24

$� 1 / 2

�L0��E�i

���
 ���
 �� �� �	 N/O ��1 ��2 �


001 346524-5 �� 1

002 265035-0 U�b( M4X10 2

003 424466-4 �,2 1

004 257981-1 I�+ (�W)16 1

005 310496-0 _�&\ 1

006 331963-2 -6&\ 1

007 268094-3 M: 3 1

008 256492-3 cH: 5 1

009 233345-3 3VDf 6 1

010 453071-0 !�&\ 1

011 310495-2 �: 1 *

011-1 310859-0 PUSH PIN O 1

012 233025-1 3VDf 2 1

013 233594-2 [	Df 17 1

014 326113-2 B
-� 1

015 265910-0 )*9P?a�bg M3X12 2

016 266429-2 �Ob( 3X16 8

017 187270-9 
�]5 1

    D10 INC. 45

019 896377-7 �1JR100D 1

020 266747-8 /�b( M4X14 5

021 318805-7 Z7�^ 1

022 213961-7 j= 12 1

023 346525-3 I�4 1

024 423424-7 �J<G� 1

025 313220-0 K�-� 1

026 313221-8 K� 1

027 326112-4 c+&\ 4 1

028 141127-8 Z75� 1

029 211242-3 c9 6902ZZ 1

030 620028-8 LED �� 1

031 256158-5 M: 3 1

032 629914-0 DC %" 1

033 424467-2 ,C 1

034 650666-2 �� 1

035 643830-2 �S�8� 1

036 345998-7 5
 1

037 453072-8 ��` R 1

038 233438-6 3VDf4 1

039 453070-2 I�` R 1

040 313219-5 !` 1

041 256158-5 M: 3 1

042 141128-6 ��` F 5� 1

043 318806-5 Z7�^@C 1

045 187270-9 
�]5 1

    D10 INC. 17

046 126201-3 B
I�R�� 1

    D10 INC. 3-14



�
 JR100D  �������10.8V

'>�� 2017/11/24

$� 2 / 2

�L0��E�i

���
 ���
 �� �� �	 N/O ��1 ��2 �


A01 B-20432 #Be
 100mm(5PCS/SET) dQ4 1

A02 B-20404 #Be
 100mm(5PCS/SET) � 1

A03B ***DC10WA .�2C/194587-3 1 *

A03-1B ***DC10WA .�2C/194587-3 < 1

A04B 194550-6 h�SBL1013/10.8V C/196971-8 2 *

A04-1B 196971-8 h�SBL1013* < 2

A05B 824993-5 YXT�N 1

    C10 162315-4 g 2

    C20 452137-3 F� 1

A06B 890224-4 ;A 2


